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OXIDATION

is is due to oxidation.
Oxidation takes place when the apple/potato loses electrons.
What are electrons? might be your next question.
Electrons are negativ aller than or occur hin an atom)
particles fi are found in all atoms and act as the primary carrier of

electricity

The apples have

ch o

and allo g them to mix together, and causing oxidation to take .The ult is the
b ing of an apple/ or potato and many other foo
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THE EXPERIMENT

* The point of the experiment was to find out which one of the liquids we used
would slow down the process of oxidation.

» Out of all the liquids we used my predictions were that vinegar would be the
best and water would be the worst.

« | think that vinegar would be the best because | the oxygen will react with it 1. Déantar tuar
first before it reacts with the polyphenol oxidase and there fore delaying the soiléir agus

process of oxidation. cosnaitear é.

2. Déantar cur
sios ar an modh
ausaideadhle
sonraiiontaofa ar
dhea-chaighdean

= —— ] a bhailit agus a

thaifeadadh go

ITE MS US E D cruinn, ar bhealach
ad'fhéadfaia

dhéanamh aris is
aris eile go héasca.

The liquids we used were
Vinegar, oil, water and salt
We tested these liquids on
Apples and potatoes
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METHOD

We first cut the apples and potatoes into small, even pieces.
We then filled different beakers with all the different liquids

After that we submerged separate apples & potatoes into different liquids
and left one bare so that we could test all the liquids against a non-
fempered one

We set the apples & potatoes in front of the right liquid they belonged to

We then observed them to see which liquid took the longest to oxidate and
which one was second best and so on

We repeated this 4 times for apples and 4 times for potatoes

——

RESULTS

For apples _?hc prdpr fqr the bc:31 liquid to For potatoes the order for the best liquid to prevent
prevent oxidation is: vinegar, oil, saltwater oxidation is: Vinegar ,saltwater, oil and then water

and then water

Apple Results Potato Results
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3. Taifeadtar
sonrai loma.

4. Léiritear sonraii
gcairteacha.

5. Ni thuairiscitear
cuinsi
sabhailteachta.

6. Luaitear gaol atd
idir na hathréga
atd iomchui don

iniachadh seo.
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OBSERVATIONS

» Overall the vinegar was the best liquid to prevent oxidation 7 Bai
from the liquids that we used . balneann an

» Something | noticed was that the saltwater hadi a different . SC(?lalre tata!
effect on the potatoes than the apples. simpli as torthai

« The water was the worst liquid but it does last quite a bit and an turgnaimh ach
is the best for taste so if you look at it from a taste point of ni mholtar aon
view it is the clear winner. fheabhsuithe.

THE END

Breithitnas ar aniomlan: @ Ag teacht leis na hionchais

E Thar barr ar fad @ Os cionn na n-ionchas @ Ag teacht leis na hionchais B Nior chomhlion na hionchais go féill




